Analyse 1 - TD 1
NON CORRIGE

Timéo Pochin

September 24, 2021

Exercice 1

a)
Sr+2 > -3
< bSr>-5
<— x>-1
— z=[-1,+o0]
b)
20 —1<4x+3< —x+6
—= (2r-1<4z+3)AN(4z+3<—-2+6)
— (-4 <2x)AN(bx <3)
3
= (—2<x)/\(9c§5)
3
= —2—
= o= |2
c)
|z —1] <4
= (z-1<dHA(z—-1>—4)
— (z<B5)A(z>-3)
— z=]-3,5



d)

f)
g)

h)

|z —2| >3
(x—2>3)V(r—2<-3)
(x >5)V(x<—-1)
x:]—oo,—l] U [57+OO[

[

v — 2| < Ja]
(x —2)%* < 2?
22 — 4z +4<2?
4 <4z

1<z
z=[1,400]

rreut

Ve+1<2
(z+1<4)A(z+1>0)
(x <3)A(x>-1)
x=[-1,3]

I

r?4+1<3

x2§2

(z <V2)A (x> —V2)
v=[-v2,V3]

11t

2?2 +3z <4

22 +3x—-4<0
(z—1D(z+4) <0
(r <1)A(x>—4)
z=1]-4,1]

1ot
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j)

22 =322 +22 >0

r(z? —32+2)>0
x(x—1)(x—2)>0
(z=0)A(x<1))V(z>2)
x=1[0,1] U[2,4+o0]

111

k)
Exercice 2

frx—ax+0

(-1 =3) A (1f(2) = 2)
= (|b—a|—3) (|2a + b = 2)
— (b—a=3Vb—a=-3)A2a+b=2V2a+b=-2)
— (b—a=3AN2a+b=2)
Vb—a=3AN2a+b=-2)
(b—a=-3AN2a+b=2)
(

b—a=-3A2a+b=—2)

< <

b—a=3N2a+b=2
<— 3a=-1A3=8
1 8

= =—-Ab=
“=73 3

b—a=3N2a+b=-2

< 3da=-5A3b=4

= a=—§/\b:%

3 3
b—a=-3AN2a+b=2

< 3a=5A3b=—4

= a:§/\b:—%

3 3



b—a=-3A2a+b=—2
<~ 3a=1A3b=-8

a= - =—3
3 3
Donc
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(a’)€{< 33>< 3’3)’(3’ 3)’(3’ 3>}
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